28.04.20г.
1. В треугольнике ABC [image: https://ege.sdamgia.ru/formula/e3/e37431b9e60aa62323f4e39b548f6d95p.png], [image: https://ege.sdamgia.ru/formula/f9/f9f9aa2006f8630ef9edcccc5d5a7949p.png], [image: https://ege.sdamgia.ru/formula/ef/efb8c57f8bc95077bc55d6f27aa4c9bdp.png]  Найдите AC.
[image: https://math-ege.sdamgia.ru/get_file?id=1095&png=1]
2. В треугольнике ABC AC = BC = 7, [image: https://ege.sdamgia.ru/formula/a6/a6b34978fd88f3c7a15bccdd531d7a49p.png] Найдите AB

3. [image: https://math-ege.sdamgia.ru/get_file?id=29769&png=1]В треугольнике [image: https://ege.sdamgia.ru/formula/7c/7ce53784ecda659515b3799e3f64f323p.png] Найдите высоту [image: https://ege.sdamgia.ru/formula/28/28377a9ff96a61078915d0232bc96c3fp.png]

4. В треугольнике [image: https://ege.sdamgia.ru/formula/90/902fbdd2b1df0c4f70b4a5d23525e932p.png] [image: https://ege.sdamgia.ru/formula/91/9152e35aa636fee9d6db5e1303e79031p.png], [image: https://ege.sdamgia.ru/formula/e9/e99c19dec2b574bc5d4990504f6cf550p.png] – высота, [image: https://ege.sdamgia.ru/formula/04/044cdf08d9bf7de4b9645228826df96dp.png], [image: https://ege.sdamgia.ru/formula/58/58fb7813e40588805c23d01b83340a70p.png] Найдите [image: https://ege.sdamgia.ru/formula/2e/2ede603c967cea8137120223a538a2c4p.png]
5. [image: https://math-ege.sdamgia.ru/get_file?id=29770&png=1]  В треугольнике [image: https://ege.sdamgia.ru/formula/90/902fbdd2b1df0c4f70b4a5d23525e932p.png] [image: https://ege.sdamgia.ru/formula/91/9152e35aa636fee9d6db5e1303e79031p.png], [image: https://ege.sdamgia.ru/formula/a8/a8be8499d6b6d35aeeddaa4db478fdc1p.png]. [image: https://ege.sdamgia.ru/formula/e9/e9fb361dcc0f1de5d9e56f5e9dcfc337p.png] Найдите высоту [image: https://ege.sdamgia.ru/formula/28/28377a9ff96a61078915d0232bc96c3fp.png][image: https://math-ege.sdamgia.ru/get_file?id=29769&png=1]

6.В треугольнике [image: https://ege.sdamgia.ru/formula/90/902fbdd2b1df0c4f70b4a5d23525e932p.png] [image: https://ege.sdamgia.ru/formula/1f/1fdefab7d76ffe5770866aa55f5da0a7p.png], [image: https://ege.sdamgia.ru/formula/e9/e99c19dec2b574bc5d4990504f6cf550p.png]  — высота, [image: https://ege.sdamgia.ru/formula/ee/ee1f1e68ef0e44972c55ad63cb323017p.png] Найдите [image: https://ege.sdamgia.ru/formula/2e/2ede603c967cea8137120223a538a2c4p.png]
[image: https://math-ege.sdamgia.ru/get_file?id=29076&png=1]	
7.В треугольнике ABC AC = BC = 6, высота AH равна 3. Найдите угол C. Ответ дайте в градусах. 

8. В треугольнике [image: https://ege.sdamgia.ru/formula/90/902fbdd2b1df0c4f70b4a5d23525e932p.png] [image: https://ege.sdamgia.ru/formula/91/9152e35aa636fee9d6db5e1303e79031p.png], угол [image: https://ege.sdamgia.ru/formula/0d/0d61f8370cad1d412f80b84d143e1257p.png] равен [image: https://ege.sdamgia.ru/formula/ea/ea891026f238c4483986bf4efffa1ac9p.png], [image: https://ege.sdamgia.ru/formula/ac/acb382a9d0ecd9dfa2b9b1c76be290bep.png] Найдите [image: https://ege.sdamgia.ru/formula/55/55c9ee3beff9b131586901889ba3714fp.png][image: https://math-ege.sdamgia.ru/get_file?id=29777&png=1]
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7
ABC,AC = BC,AB = 5, cos ZBAC = 7.




image8.png




image9.png
ABC




image10.png




image11.png
AB =8
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cos BAC = 0,5.
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4
to BAC = —Y22.
£ 33
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AC =BC =27
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cos BAC = —.
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AB = 2/3.
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AB = 14
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sinA = 0, 96.




